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Review your story plan.

What happens in your adventure?

Where has Penguin Small come from?
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In the beginning, Penguin Small is at the

North Pole. At the North Pole the

)

snow covers the ground and the est, sea surrounds

the less land. Soon ajter meeting a

)

hedrifts _ lyona , lceburg

sea. lhe

through the

] 3

water swishes ly against the edge of

the iceburg. Eventually the spot a

)
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Where does Penguin Small travel to?

What is is like?

Who does he meet there?
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Eventually they spot a : and
Penguin Small is full of  ment. It is the most
ful place he has ever seen.
cover the ground and there are ,
everywhere. ly a ,
appears who is the est that

Penquin Small has ever seen.
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'Describe the North Pole and where

'Penguin Small arrives in your own words.

Use noun phrases to describe.

'he tall, rugged mountains rose high out of the water.

\and, that, if, but, because, when, or

| Include suffix words.

-,
less, ment, ly, ful, ness, est % [\






I can solve mt ltipl[catlon L and division
nu E S

1oer sentenc

-
— ——

Can you count in 2s, 5s and 10s?

Count in 2s, 5s and 10s
tfelsfefsle]o=]o[w ysing the link below

1 |12 13 (14 |15 |16 17|18 (19 | 20

21 |22 | 23 |24 |25 |26 | 27|28 (29 | 30

P Py ey Py ey oy ey ey ey https://www.topmarks.co.uk/
4142434445 | 45| 47 48 49 | 50| learning-to-count/paint-the-squares

51 |52 53 |54 |55 |56 57|58 59 &0

61 |62 &3 |64 &5 66 &7 | 68 |69  TO
B1 |82 B3 | B4 BS |B& B7|BE | B9 90

n ﬂ'ij'ﬂi Hj"i 'IET'B? 28 9"9‘1“‘ Multiplication

Division
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oer sentences.

What do these symbols mean? Vocabulary
Multiplication

X Division
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Given these 3 numbers -

Multiplication

9 6 12 Division -

We can write 2 multlpllcation sentences

2x6=12
6x2=12

We can write 2 division sentences

12<6=2
12+2=6



I can solve ‘1ultipllcation and division

number sentences.

Try these questions M\mﬁn ¥
30— Division e
6x10-=
5x4 =
15=5-=
14—=2-=

50=10-=
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Vocabulary
Multiplication X

Division -




O0x10=

5x0=

10x7=

12x2=

10x9 =

S5x12=

2X2=

Ix2=

2x0=

1x5=

2x1=

4x5=

2x11=

HAxb=

2x4-=

10x9=

Bxb5=

12x5=

5x9=

12x10 =

2Xb=

11x10 =

BExh=

fx5=

2x0-=

11x2=

2X%X8 =

Ix2=



35+5=

100 +10 =

80+ 10 =

15+56 =

10+10 =

12+ 2=

45+ 5 =

10+2=

40+ 10 =

20+ 5=

60+ 10 =

50+ 5=

18 +2 =

40+5=

25+5=

20+ 10 =

12+ 2=

40+ 5=

70+ 10 =

45+ 5=

10 + 10 =

20+5=

16 +2 =

40+ 10 =

10+5+=



8xb= 5x7= 4x10 = 5x8=
10x12 = 10x10 = 2x9= 1x2=
11 x10 = 8x10= 10x0= 10x10 =
2x4= 2Xx6= 6x10= ox1=
7Tx2= 8x2= Tx2= 7x10=
3x10= 10x6 = 8x10 = 10x1=
O9XD= 4x10= 2XxX2= Sx4-=
ox11= 5x3= Ox5= 3X5=




50+ 10 = 14+ 2 = 30+5= 80 +10 =

16 +2= 10+5= 14 +2= 4+2=
8+2= 20+ 10 = 15+5= 5+0=
30+5+= 25+05 = 60 + 10 = 30+10 =
20+ 2= 70+10 = 50+5+= 10+2=
30+10 = 90+10 = 90+ 10 = 50 +10 =

5+5= 6+2= 18+2= 100 =10 =
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I know where Buddhists worship.

Buddhists worship
In a t.

Use the link below to find out more.

https://www.reonline.org.uk/specials/
places-of-worship/buddhism_video.htm
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I know where Buddhists worship.

What would you see inside a Wat? 5
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I know where Buddhists worship.
What would you see inside a Wat?

Inside a Wat

Statue of Buddha 1

Vase of flowers

Incense &
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I know where Buddhists worship.

Draw a picture on one
side of your paper of a
Wat.

On the other side draw
and label the things
you find inside a Wat.




